03093_G MHHFHENT MEHERE | H BB L IEF NI-KHE

7= miiEA

ME
W
TREHTE(LALER -
BMEER 5.8,

TEHEM
TRESRE{LAL TR,
1B ER 1.4305,
T4 1.4034,

TN REELLLE
IRYER 1.4305,

Ti4H 1.4305,
RIRERBEUBEYEREKIEF,

I
W
MA@, MM BEEALE,

TEHW :
L TEL, MANBEELE, TERZEL, HAEMBRE L
H,

B
PEHEATEEIH4MEMNEMNERES ., RENREKREETERTE
g,

TEMEFARSFERERFA. SEBHELTHEXNNIGE , BI85
HBRWER

REFEXR :
BRER,

M -
[EIBEEH 03089

© norelem www.norelem.com



03093_G MHHFHENT MEHERE | H BB L IEF NI-KHE

D2
, ]
GH |
THHERE N
~
A |
~J
L .
~
' X 57
| L
Wy
| |
-0,02
| - D -0,04
D1

03093-21903 G | WH ZKE{tLE| 3 M6x0,75 14 33 (17 11 5 0,8 4,5 12 03094-99
03093-21004 G | Ml ZAELLE| 4 M8x1 18 40,5 (21 135 ]| 6 1 6 15 03094-90
03093-21105 G | WE ZKE{LLE | 5 M10x1 21 46,5 (24 145 | 8 1,3 5 16 03094-91
03093-21206 G | Wl ZLELLE| 6 M12x1,5 25 54,7 |28 17,7 | 9 1,8 6 18 03094-92
03093-21308 G | W&l ZLELLE| 8 M16x1,5 33 72 |36 24 12 2,3 15 45 03094-93
03093-21410 G | M4 £LE{LLE |10 M20x1,5 33 79 |40 24 | 15 2,8 15 43 03094-94
03093-21412 G | W&l LELLE [12] M20x1,5 33 84 |42 24 18 2,8 15 51 03094-94
03093-21516 G | WEl ZKLE{LLE |16 M24x2 40 104 |50 30 | 24 3,2 20 50 03094-95
03093-201903 G |FEM LB | 3 M6x0,75 14 33 |17 11 5 0,8 4,5 12 03094-99
03093-201004 G |FEH LBELLE | 4 M8x1 18 40,5 (21 135 ]| 6 1 6 15 03094-90
03093-201105 G | 75N KLELLE | 5 M10x1 21 46,5 (24 145 | 8 1,3 5 16 03094-91
03093-201206 G |FEM LBELLE | 6 M12x1,5 25 54,7 |28 17,7 | 9 1,8 6 18 03094-92
03093-201308 G |TEM 2B {LLE | 8 M16x1,5 33 72 |36 24 |12 2,3 15 45 03094-93
03093-201410 G |THM £E{®E 10 M20x1,5 33 79 |40 24 | 15 2,8 15 43 03094-94
03093-201412 G |FEM LELLE [12] M20x1,5 33 84 |42 24 18 2,8 15 51 03094-94
03093-201516 G |75 £LELE |16 M24x2 40 104 |50 30 | 24 3,2 20 50 03094-95
03093-211903 G |FEM RELLE | 3 M6x0,75 14 33 |17 11 5 0,8 4,5 12 03094-99
03093-211004 G |FEM RELLE | 4 M8x1 18 405 |21 135 | 6 1 6 15 03094-90
03093-211105 G |THM KRELE | 5 M10x1 21 46,5 24 145 | 8 1,3 5 16 03094-91
03093-211206 G |FEM KRELLE| 6 M12x1,5 25 54,7 |28 17,7 | 9 1,8 6 18 03094-92
03093-211308 G |FE#M RE{LLE | 8 M16x1,5 33 72 |36 24 | 12 2,3 15 45 03094-93
03093-211410 G | M RE{LALE [10] M20x1,5 33 79 |40 24 15 2,8 15 43 03094-94
03093-211412 G |FEM RELLE [12] M20x1,5 33 84 |42 24 18 2,8 15 51 03094-94
03093-211516 G |THEM KRELE | 16 M24x2 40 104 |50 30 | 24 3,2 20 50 03094-95

© norelem www.norelem.com



03093_G MHHFHENT MEHERE | H BB L IEF NI-KHE

© norelem www.norelem.com



